Vi A=k

Yasi

Multiplier les nombres décimaux par des puissances
de dix

Nom:

10.492 x 100000 =

9.207 x 1000000 =

3.74 x 10000 =

Date: Note:

10.167 x 10 =

6.984 x 100000 =

9.422 x 1000 =

7.477 x 1000 =

7.318 x 10000 =

9.198 x 100000 =

6.979 x 10 =

9.275 %10 =

9.283 x 100000 =

4.587 x 100 =

10.68 x 10 =

10.123 x 100 =

4.52 x 10 =

9.223 x 1000 =

1.677 x 100 =

6.536 x 1000 =

1.162 x 10000 =
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FaBEn

Multiplier les nombres décimaux par des puissances
de dix

Nom:

10.492 x 100000 = 1049200

9.207 x 1000000 = 9207000

3.74 x 10000 = 37400

9.422 x 1000 = 9422

7477 x 1000 = 7477

7.318 x 10000 = 73180

9.198 x 100000 = 919800

6.979 x 10 = 69.79

9.275 x 10 = 92.75

9.283 x 100000 = 928300

Date: Note:

10.167 x 10 = 101.67

6.984 x 100000 = 698400

4.587 x 100 = 458.7

10.68 x 10 = 106.8

10.123 x 100 = 1012.3

4.52 x10=45.2

9.223 x 1000 = 9223

1.677 x 100 = 167.7

6.536 x 1000 = 6536

1.162 x 10000 = 11620
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